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Math 2D Quiz 2 Morning - October 6th

Please put name on front & ID on back for redistribution!

Show all of your work. *There is a question on the back side.”

1. (a) [4 pts] Graph = = z in 3-dimensional space, R®. 5 . J
If you cannot draw it, describing it correctly will get a little partial credit.(_ji".i ) IAP hﬁ{’{ Jﬂ\f =
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(b) [4pts] Let @ = 27 — 3], b=4i — 37 + k. Compute 4a — 3b. Also compute |4@ — 3b|.
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(c) [2pts] Find a vector with the same direction as vector v = (8,6,0) with length L.
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2. letr zqfsm(39) here 0 < 8 < 2.
(a) [6pts] Plot this curve on the r@-plane first. Use it to graph the curve on the zy-plane.

Indicate with arrows the direction the curves are traced as @ increases from 0. lj
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(b) [4pts] Find the equation of the tangent line at 6 = 7/3. (Here, (z,y) = (0,0)).
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